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One who sweeps and one who settles the dust — lyaanm Taonn

OVERVIEW

The &n>92 teaches that regarding yanm 72010, there is a NP2 between ORI
who is 21, and the 7127 who maintain that it is only a m2w prohibition 732777, The
Xm3 later states that according to w"9 it is permitted to be 721032 Y. Our MooIN
discusses whether there is an issue of 77w 2°05 here.

n1voIN asks:
= TNNN MWV 20Wr1 P09 M1 RDT 9991 TN YT NN

It is astounding! For perforce we are discussing here a situation where there is
no ;7w »°o2 that he will smooth out the holes in the ground -

- AYNNY PYNAY 539 19PY 39Y 3351 DIYH PID INT

For if it is a 7w po5 how does @7, later in our X3 permit 7127 even 5791n2% -

= % XYY NPW Hr09a PYNY 29 AN NN

For @'= admits in a case of Ny XY ;77w 2905 that he is 21 even if he is 71907 PX,

therefore we must conclude that this Y27 is not a 7> P09 -
= INVN ITWHN 129 299N ININ NIYI9 709 "N N9 19

And since it is not a 2''op, why does X''9 obligate him for a nRwR 127p -
= 3NPYYY G108 223 (3,75 97 xo») DNNNN OND MIN P93 9NN

Since the X713 stated in the 73927 2779 928 P95, regarding NPRWY 717X -
- SHAYNN NINDM 37D K9 1IN 11 DTN 529 919 1999509 PNT V314

For doing a n15%%» without intent is permitted n''5 (even) according to 5" for
it is not a thoughtful/intentional work.

! y29n mean one who sprinkles water on the floor to prevent the dust from rising. There is a concern that while he is
doing it he may smooth out certain holes in the ground and transgress the 779877 of 7112 (building).
2 [N R71] 7w pooo literally means, can you chop off its head [and it will not die]. It is inevitable that if the head is
chopped off, it will die. The term 7w P05 refers to an inevitable result of a specific action. MmN is saying that
here it cannot be a case of 7w p°09, meaning that it is not inevitable that by being y°27» he will be nva mmwn; it is
merely a possibility.
3 When one heats up a metal to a high degree and then places it in cold water; the metal is strengthened, and one is
21 for doing this on naw because of w w2 1om; it is the final ‘hammer blow’ to finish the utensil. nYwWwWY A%
means the hardening (717°%) of the chunks of metal (nrwwy).
4 They would occasionally throw in hot pieces of metal into the mp» on 8"21 to lessen the coldness of the water for
the 9173 1713 (if necessary). The Rn3 there asks but it is NPWWY 711°Y; the X3 answers that it is 71901 PR there is no
intent (by throwing in this n1wwy) to be 77x» them, but only to take the chill of the water..
5 The 770 writes (in 37,77 [27p7] nnw) regarding the 1owna NIXY7 that it was nawms naR» 932 nwys. The work was
planned and intentional. The n9X%» of Naw are derived from the 19wnn NoR?1 therefore the NMAX?1 of Naw need to be
nawnn nNoXon» in order to be 2> for transgressing them. An 1207 1°X by definition is not a nawm» naR>». The question
is why is 27 "9 a nXwi for y271 since it is 11507 1R and not 7w 209 where all agree that it is 7707 172 NM?!
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NID0IN answers:
= 91 NI 920 1329 NIW PID NN 92D TYIIN 2297 2909 NNAT 910 UM

And one can say that this itself is the argument, for X''S maintains that it is

3'"®p so therefore he is 2°°1, but the 129 maintain that it is not a 2"0o», therefore
there is no NXvr 211 even according to 777 .

mooIn anticipates a difficulty:
= AYNNAY 9V NPYNY 2295 19 NI22DT NITINNI 9INT N

And this which the X713 concludes, ‘and nowadays that we follow @'+ that a

71207 PRY 727 1s N, it is initially permitted to be y277°, but why -
= 579Y PO MNHNT PYNY 29 9307 YWONT 2) by GN

Even though it is possible that w''9 himself maintains that 27 is a 9'">op —

mooIn responds:
- Y DI N NYT 713299 130 ©7YN 0PN Yan

Nevertheless even though w'"7 may maintain that it is a 7"09, the X923 follows the

1227 who maintain that it is not a 9'">op -
2 [PYRY 529 HRNNN NI 8N PITMIO Maon »y] PYNY 3395 1D NPT 1193 ENDNNSY Y9 1o99N

Therefore since it is not a 1™ it is permitted s751n3%, since we established the
ruling like @''9 that P1an» PRY 127 is 727037 N~

SUMMARY
The o511 and X" argue whether 277 is a 7"05 (for mn Awn), we follow w'"
regarding 11207 X, regardless whether he maintains y°27% is 7"°09, or not.

THINKING IT OVER
If the 73127 maintain that it is not a 7"09, then why do the 1127 maintain that it is
maw own 7ox??

6 It will turn out then that w"2 would agree (with X"9) that y27n is nxon 270!
" Even if "1 maintains that it is a 1", we however follow the 1127 who argue with X" (and [perhaps] ") and
maintain that it is not a 1"09.
8 We can agree with w"9 that 11207 X is W0 and (perhaps) disagree with him regarding whether it is a 7"09.
? See previous 271771 1"7 'ON.
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